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Candidates who have NOT submitted an assessed essay should answer THREE questions.

Time allowed:  3 hours

Candidates who have submitted an assessed essay should answer TWO questions.

Time allowed:  2 hours

Read carefully the instructions on your answerbook and make sure that the particulars required are entered on each answerbook.

________________________________________________________________________________________________________________________________________________
 1
  Are the merits of Szreter’s explanation of the mortality decline in Britain greater than the merits of McKeown’s explanation? 
________________________________________________________________________

 2 
Was the fertility decline in Britain during the late nineteenth and early twentieth centuries an inevitable consequence of economic development and changes?
________________________________________________________________________

 3 
  How have the roles played by age at marriage and celibacy in regulating population change in Britain varied from the seventeenth century onwards?
________________________________________________________________________

 4 
  Are cohabitees in contemporary Britain fundamentally different to both married people and single people? 
________________________________________________________________________

 5 
  Do the consequences of heterogamy depend on the causes of homogamy?
________________________________________________________________________

 6 

To what extent have economic, technological and cultural changes increased the control that women in contemporary Britain have over their own fertility histories?
________________________________________________________________________
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________________________________________________________________________

 7 
  Is the ‘problem’ of teenage pregnancy in contemporary Britain likely to disappear?
________________________________________________________________________

 8 
If continuity has been an important feature of marriage and the family in recent decades, why has change been such a feature of recent public and theoretical discussions of marriage and the family? 
________________________________________________________________________

 9 

Is the ‘medicalisation’ of marriage a more important determinant of the extent of marital interventions in contemporary Britain than other forms of marriage-related change are?
________________________________________________________________________

10 
Can the origins of a couple’s separation or divorce be properly understood without knowledge of its social and historical context? 
________________________________________________________________________

11 

Is it safe to generalise about the lives of the formerly partnered?
________________________________________________________________________

12 
Should all stepfamilies be expected to be more problematic than other families?
________________________________________________________________________

13 

Is internal migration in contemporary Britain primarily related to paid employment?
________________________________________________________________________

14 

Are changes in mortality and fertility patterns in contemporary less-developed countries following a consistent pattern?
________________________________________________________________________

15 

Do national population policies need to be coercive to be successful?
________________________________________________________________________

16 

To what extent are policy-makers likely to be able to reduce mortality from suicide and from lung cancer in contemporary Britain?
________________________________________________________________________

17 

How important is it for policy-makers to recognise the diversity of older people when assessing the possible consequences of Britain’s ageing population?
________________________________________________________________________
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